

KP 1

Position C

$$\begin{aligned}c) & (3+4) \cdot 2 - 2 \cdot (5 - 6:3) = \\ & = \underline{7 \cdot 2} - 2 \cdot \underline{(5-2)} = \\ & = 14 - \underline{2 \cdot 3} = \\ & = 14 - 6 = \underline{(8)}\end{aligned}$$

$$\begin{aligned}v.d) & 15 : [10 - (3+2)] - \underline{2 \cdot 3} : 2 = \\ & = 15 : \underline{(10-5)} - \underline{6 : 2} = \\ & = \underline{15 : 5} - 3 = \\ & = 3 - 3 = \underline{(0)}\end{aligned}$$

$$\begin{aligned}v.e) & 3 \cdot [(8-2) : 2 + 2] = \\ & = 3 \cdot (\underline{6 : 2} + 2) = \\ & = 3 \cdot \underline{(3+2)} = \\ & = 3 \cdot 5 = \underline{(15)}\end{aligned}$$

v f)

$$\begin{aligned} & 8 - 2 \cdot [3 - 15 : 5 : (2+1)] = \\ & = 8 - 2 \cdot (3 - 15 : 5 : 3) = \\ & = 8 - 2 \cdot (3 - 3 : 3) = \\ & = 8 - 2 \cdot (3 - 1) = \\ & = 8 - 2 \cdot 2 = \\ & = 8 - 4 = \textcircled{4} \end{aligned}$$

KP

Position C

$$\begin{aligned}c) & (3+4) \cdot 2 - 2 \cdot (5 - \underline{6:3}) = \\ & = \underline{7 \cdot 2} - 2 \cdot (5 - 2) = \\ & = 14 - \underline{2 \cdot 3} = \\ & = 14 - 6 = \underline{(8)}\end{aligned}$$

$$\begin{aligned}vd) & 15 : [10 - (3+2)] - \underline{2 \cdot 3 : 2} = \\ & = 15 : (10 - 5) - \underline{6 : 2} = \\ & = \underline{15 : 5} - 3 = \\ & = 3 - 3 = \underline{(0)}\end{aligned}$$

$$\begin{aligned}e) & 3 \cdot [(8-2) : 2 + 2] = \\ & = 3 \cdot (\underline{6 : 2} + 2) = \\ & = 3 \cdot (3 + 2) = \\ & = 3 \cdot 5 = \underline{(15)}\end{aligned}$$